H. Geometry - Bellwork #19		March 4th, 2019
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Complete the statement AABC ~ _?_, and identify the reason why
the triangles are similar.

ON
A. AAKN; SSS ~

B
B. AAKN; SAS ~ 8
C. AANK; SAS ~
D. AANK; AA ~

A 12 C3K
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Complete the statement AABC ~ _? , and identify the reason why

the triangles are similar. A L
F. ALGC; SSS ~
G. AGLC; SSS ~
H. ALGC; AA ~ C
I. AGLC; AA ~ B
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Suppose AVLQ ~ APSX.
a. Explain how you would find mzXif m£V = 48 and mzL = 80.
b. Find mzX.
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Hank is 6 ft tall. Hank measured the shadow of a tree and found it to be

30 ft long. He then measured his own shadow. It was 10 ft long.

a. Draw and label a diagram that you could use to find the height of the
tree. Write a similarity statement and justify your answer.

b. Write a proportion and solve it to find the height of the tree.




